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16. Select grammatically correct sentence.
A) Karachiis Sindh’s seaport | B) Karachiis the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachiis Sindh’s seaport

17. Which is correct use of verb ?
A) My brother lived in Mumbai since 1930
B) My brother has fived in Mumbai since 1930
C) My brother is fived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930
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18. Which is correct use of adverb ? \Q

A) Honey 1s very sweet B) PK@S? too sweet
C) Honey is so sweet D)@ ey is much sweet

19. Which is correct use of preposition ? (b
A) She is married with rich man. Q B) She married with rich man.

C) Sheis married toarichm D) Shehad married with richman.

ale dominate domain. How this sentence can be written
orrect from following.

20.. She is working in an exclusi
by removing gerund ?

A) She work inan ive male dominated domain.

xclusive male dominated domain.

exclusive male dominated domain.

21. he sentence by using proper conjunction :
Mohan was young, he went to Africa.

A) ButMohan was young, he went to Africa.

B) When Mohan was young, he went to Africa.

() That Mohan was young, he went to Africa.

D) Hardly Mohan was young, he when went to Africa.

22. Choose correct Tense Form that is used in the following sentence.
We had been playing in the park. ‘
A) Past perfect continuous tense
B) Past continuous tense
C) Present perfect contimous tense

D) Past perfect tense

23. Name the correct clause bracket in the given sentence. He is (much) obliged to you.
A) Noun clause B) Co-ordinate clause

C) Positive adverb clause D) Adverbclause of reason.
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24. Name conjunction from the sentence Ganesh does mk e whether his wife goes out of
.

home.

A) Whether B) His Q&ut of D) Care

25. Nothing else travels so fast as li omparative and choose correct answer.)

A) Lightis traveler than any o g
B) Light travels faster th ing else
() Lightis faster te2, an nothing

D) Lightis travrb'&aster as anything

e&ntence.
*

26. Pick up co

When the meeting will be starting ?

D) When the meeting will start ?

27 Choose the word from given words to fill in the blank to make the sentence meaningful.

No sooner he arrived then everyone up in his honour.
A) stood B) stands C) stand D) got
28. Complete the sentence by using a word from the following words : The cashier the

money and signed a receipt for it.

A) collects B) accepts | C) counted D) receives

29. Choose the correct passive voice from the following sentences.
A) He was given a gift by Rita. B) Hegivesa gift by Rita.
C) He gavea gift by Rita. D) He was giving giftto Rita.

30. Choose the group of words which is most nearly the same in meaning as of the word :

Revolutionize
A) Affect adversely B) Develop gradually
() Change drastically D) Illuminate completely
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16.

17.

18.

19.

20.

21.

22.

Complete the sentence by using a word from the f@ﬁg words : The cashier the

money and signed a receipt for it.

A) collects B) accepts Q counted D) receives
;ol

Choose the correct passive voice ft. lowing sentences.
A) He was givena gift by thé
C) He gave a gift by Rita.

) Heg gift by Ri 6

Choose the group o‘f'ﬁ which is most nearly the same in meaning as of the word :

B) Hegivesa gift by Rita.
D) He was giving gifttoRita.

Revolutionize Q
A) Affect 3d\csNyY B) Develop gradually
¢ C c¥rastically D) Illuminate completely

[©]

S ammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport

Which is correct use of verb ?
Aj My brother lived in Mumbai since 1930
B) My brother has lived in Mumbai since 1930
(C) My brother is lived in Mumbeai since 1930
D) My brother have lived in Mumbai siilce 1930

Which is correct use of adverb ?
A) Honey is very sweet B) Honey 1s too sweet

C) Honey 1s so sweet D) Honey is much sweet

Nothing else travels so fast as light (Make comparative and choose correct answer. )
A) Lightis traveler than any other thing
B) Light travels faster than anything else
C) Lightis faster traveler than nothing

D) Lightis travelers faster as anything
_5-
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Pick up correct sentence. \Q

A) When the meeting been start ? &6 *
B) When the meeting would start ?

C) When the meeting will be starting Q

D) When the meeting will start ? (b

Choose the word from given fill in the blank to make the sentence meaningful.
No sooner he arrived t gpryone up in his honeur.
A) stood % tands C) stand D) got

We had been g in the park.

*
Choose correct T§§<¥orm that is used in the following sentence.

A) Pastp ntinuous tense B) Past continuous tense
C) Presaqt ect continuous tense D) Past perfect tense

correct clause bracket in the given sentence. He is (much) obliged to you.
oun clause B) Co-ordinate clause
Positive adverb clause D) Adverb clavse of reason.

Name conjunction from the sentence : Ganesh does not care whether his wife goes out of
home.

A) Whether B) His C) Outof D) Care
Which is correct use of preposition ?

A) Sheismarried with rich man. B) She married with rich man.

C) She is married to a rich man. D) She had married with rich man.

She is working in an exclusive male dominate domain. How this sentence can be written
by removing gerund ? Select correct from following.

A) She work in an exclusive male dominated domain.
B) She works in an exclusive male dominated domain.
() She worked in an exclusive male dominated domain.
D) None of these are correct.

Rewrite the sentence by using proper conjunction :
Mohan was young, he went to Africa.

A) But Mohan was young, he went to Africa.

B) When Mohan was young, he went to Africa.

C) That Mohan was young, he went to Africa.

D) Hardly Mohan was young, he when went to Africa.
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Choose correct Tense Form that is used in the followin&ence.

16.

17.

18.

19.

20.

21.

22.

23.

We had been playing in the park.
A) Past perfect continuous tense

C) Present perfect continuous tense

Name the correct clause bracket in t

A) Nounclause

C) Positive adverb clause Q

C - 009-33

©
t continuous tense
Q ast perfect tense

sentence. He is (much) obliged to you.

B) Co-ordinate clause
D) Adverb clause of reason.

Name conjunction fro &ntence Ganesh does not care whether his wife goes out of

home. %
A) Whether B) His

mone signed a receipt for it.
cts B) accepts

C) Outof D) Care

Mtence by using a word from the following words : The cashier

C) counted D) receives

Choose the correct passive voice from the following sentences.

A) Hewas given a gift by Rita.
() He gave a gift by Rita.

Choose the group of words which is most nearly the same in meaning as of the word :

Revolutionize
A) Affectadversely
C) Change drastically

Which is correct use of preposition ?
A) She is married with rich man.
() She is married to arich man.

B) He gives a gift by Rita.
D) He was giving giftto Rita.

B) Develop gradually
D) Illuminate completely

B) She married with rich man.

D) She had married with rich man.

the

She is working in an exclusive male dominate domain. How this sentence can be written
by removing gerund ? Select correct from following.

A) She work in an exclusive male domunated domain.

B) She works in an exclusive male dominated domain.

C) She worked in an exclusive male dominated domain.

D) None of these are correct.
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24. Rewrite the sentence by using proper conjun’cg'\@
Mohan was young, he went to Africa. .

A) ButMohan was young, he went *q'ca.

B) When Mohan was young, he Africa.

C) That Mohan was young, h% o Africa.

D) Hardly Mohan was e when went to Africa.

25. Select grammatic@lect sentence.
A) Karachj"i% s seaport B) Karachi is the seaport of Sindh
NSt

C) The se@ Sindh is Karachi D) The Karachiis Sindh’s seaport

26. Win ect use of verb ?
rother lived in Mumbai since 1930
My brother has lived in Mumbai since 1930
C) My brother is lived in Mumbai since 1930
D) My brother have lived in Mumbai since 1930

27. Which is correct use of adverb ?
A) Honey is very sweet B) Honey 1s too sweet

C) Honey is so sweet - D) Honey is muchsweet

28. Nothing else travels so fast as light (Make comparative and choose correct answer.)
A) Lightis traveler than any other thing
B) Light travels faster than anything else
C) Light is faster traveler than nothing
D) Lightis travelers faster as anything

29. Pick up correct sentence.
A) When the meeting been start ? B) When the meeting would start ?
C) When the meeting will be starting ? D) When the meeting will start ?

30. Choose the word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour.

A) stood B) stands C) stand D) got
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31.

32.

33.

34.

35.

36.

37.

38.

39.

40.
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Frgr g B Q® |
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A) 2R ‘%9 O 2 D) ¢

e T e aaiq

A) S Q B) JFd C) &4 D) IS e
TS dieee Ui Arer et ?

A) B) et C) T D) &R

SyTergrea STt shiurd @ A 7

?, ¢, %9, 8%, T4, 2§

A) § B) 3 C) 3 D) ¥

SIS T dIeel 3. 718 F1eT gfvem o erafamn, @ fidfie srear fawg e wiord ?

A) aTIA B) W C) gfeqor D) =

TohT HIHdeh WINd ALPHABETS 19183 £33 %48 o¢ 3141 fordien et ct HEALTH 819183
ar fordidie ? '
A) ¥&IoY B) ¥&%3\9¥ C) Y&y D) ¥&3y

T Hichfaeh T STAND BT 16 FGNAQ 3781 fetfeett 318 at &< 9gdii TROLLY g9ee
w4 g 7 .

A) GYSBYL B) GEBYYL C) GBEYLY D) GEYBLY

2¢0, J4Y, 230, 0L, L, oL

A) %30 B) %o¢ C) ¢¢ D) w¢
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A) 70ml/ kg body weight ORS in four hours sip by sip
B) 40ml/kg body weight ORS in four hours sip by sip
C) 90ml/ kg body weight ORS in the whole day
D) 20ml/ kg body weight ORS in the whole day
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16. Which is correct use of preposition ? Q
A) Sheis married with rich man. % arried with rich man.
C) Sheis married to a rich man. e had martied with rich man.

17. She is working in an exclusive male do domain. How this sentence can be written -

by removing gerund ? Select correc
A) She work in an exclusive malcf .
B) She works in anexclusiv. }@dominated domain.
C) She workedin an %‘nﬁle dominated domain.
D) None of these areﬁ& ct

18. Rewrite the sen using proper conjunction :
he went to Africa.

A) Bu was young, he went to Africa.
B) Mohan was young, he went to Africa.
C at Mohan was young, he went to A frica.

D) Hardly Mohan was young, he when went to A frica.

19. Nothing else travels so fast as light (Make comparative and choose correct answer.)
A) Lightis traveler than any other thing
B) Light travels faster than anything else
C) Lightis faster traveler than nothing
D) Lightis travelers faster as anything

20. Pick up correct sentence.
A) When the meeting been start ? B) When the meeting would start ?
C) When the meeting will be starting ? D) When the meeting will start ?

21. Choose the word from given words to fill in the blank to make the sentence meaningful.
No sooner he arrived then everyone up in his honour.

A) stood B) stands C) stand D) got

22. Select grammatically correct sentence.
A) Karachi is Sindh’s seaport B) Karachi is the seaport of Sindh
C) The seaport of Sindh is Karachi D) The Karachi is Sindh’s seaport
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23. Which is correct use of verb ?

. Q
A} My brother lived in Mumbai since 1930 ‘\
B) My brother has lived in Mumbai since @

C) My brother is lived in Mumbeai sin
D) My brother have lived in Muml|

24. Which is correct use of adverP&Q
A) Honey is very sweetQ B) Honey is too sweet
C) Honey is so S\%? D) Honeyis much sweet
*
25. Complete the sgé%e

y using a word from the following words : The cashier the
money and si a receipt for it.
A) collge

B) accepts C) counted
.

D) receives
e correct passive voice from the following sentences.
e was given a gift by Rita. B) He gives a gift by Rita.
He gave a gift by Rita. D) He was giving gift to Rita.

i 27. Choose the group of words which is most nearly the same in meaning as of the word :
< Revolutionize

5}3 A) Affect adversely

B) Develop gradually
C) Change drastically D) Hluminate completely
28. Choose correct Tense Form that is used in the following sentence.
We had been playing in the park.
A) Past perfect continuous tense

. B) Past continuous tense
() Present perfect continuous tense

D) Past perfect tense

29. Name the correct clause bracket in the given sentence. He is (much) obliged to you.
A) Noun clause

B) Co-ordinate clause
) Positive adverb clause D) Adverb clause of reason.

30. Name conjunction from the sentence : Ganesh does not care whether his wife goes out of
home.

A) Whether B) His C) Outof D) Care
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